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3
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, 
7
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3
1,

4
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2
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4
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3
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2
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  : 
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


 , 
b
a
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, 
23
22

6
4




 ; 
316
35

48
15






2
1

4
2

8
4

2
1  = 

4
2  = 

8
4

 : 10, 100, 
1000 

1000
17,

100
11,

10
8

  : 
10, 100, 1000 

17
11,

8
3,

7
2

1 

(HCF) 1 

, 
13
12,

7
3,

5
4,

5
3

? 

 : 

 1.  ( ) 

 2.  ( ) 

 : 

 :

Ex.1  : 

(i) 
5
3

5
2
   (ii) 

7
3

7
4


. (i)  
5
3

5
2
  = 

5
32  = 

5
5  = 1 

(ii)  
7
3

7
4
  = 

7
34   = 

7
1

  : 

Ex.2  : 

(i) 
3
4

5
2
    (ii) 

8
1

9
3


. (i) 
3
4

5
2
   [5  3 LCM = 15] 

=
15

5432   = 
15

206   = 
15
26  = 1

15
11

 (ii) 
8
1

9
3
   [8  9 LCM = 72] 

  = 
72

1983   = 
72

924  = 
72
15  = 

24
5
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 

Ex.3  : 

(i) 
5
32    (ii) 

8
74   (iii) 

15
4

11
9


  (iv) 
8
53

2
18   (v) 

2
13

3
22    (vi) 

2
3

5
2

10
7



. (i) 
5
32   = 

5
3

1
2
    [1  5 LCM = 5] 

= 
5

1352   = 
5

310  = 
5
7  = 

5
21

 (ii) 
8
74   = 

8
7

1
4


  = 
8

1784   = 
8

732

  = 
8
39  = 

8
74

 (iii) 
15
4

11
9
    [11  15 LCM = 165] 

  = 
165

411915   = 
165

44135  = 
165
91

 (iv) 
8
53

2
18 

  = 
2

17  – 
8
29    [2  8 LCM = 8] 

  = 
8

129417 

  = 
8

2968  = 
8

39  = 4
8
7

 (v) 
2
13

3
22 

  = 
2
7

3
8
   [3  2 LCM = 5] 

  = 
6

2116  = 
6

37  = 6
6
1

 (vi) 
2
3

5
2

10
7

  [2,5  10 LCM = 10] 

  = 
10

532217   = 
10

1547 

  = 
10

1511  = 
10
26  = 

5
13  = 

5
32

Ex.4 

10
7,

7
3,

5
1

.  
10
7,

7
3,

5
1  [5,7  10 LCM = 70] 

= 
145
141

 , 

107
103

 , 

710
77



   = 
70
49,

70
30,

70
14

70
14

70
30

70
49



,  
5
1

7
3

10
7




5
1,

7
3,

10
7

Ex.5  12
2
1 cm 

10
3
2  cm  : 

Sol.  = 12
2
1  cm = 

2
25  cm 

 = 10
3
2  = 

3
32  cm 

      = 2(  + ) 

  = 





 

3
32

2
252  = 






 

6
2323252

  = 





 

6
64752  = 

6
1392  = 

3
139  = 46

3
1 cm. 
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Ex.6 
5
3

? 

Sol.   = 
5
3

 = 





 

5
31

 = 
5
2







 

5
2

5
3









 

5
2

5
3







 


5
1

5
23

Ex.7 
12
7

4
3

Sol.   = 
12
7

 = 
4
3

= 
34
33


  = 

12
9

12
7

12
9


  = 





 

12
7

12
9

   = 
12

79  = 
12
2  = 

6
1

Ex.8 
7
2

Sol.  
14
4

27
22

7
2







21
6

37
32

7
2





 
28
8

47
42

7
2







7
2

14
4 , 

21
6

28
8

Ex.9 
 : 

9
41,

13
37,

4
13,

100
11,

7
4,

3
7,

3
12

Sol.   = 
100
11,

7
4

 = 
13
37,

3
7

 = 
9
41,

4
13,

3
12

 : 

= 

 (i) 

 (ii) 

 (iii) 

 (iv) 

  : 

 

Ex.10 

 (i) 3 × 
7
2  (ii) 3 × 

8
1       (iii) 

9
7  × 6 
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.  (i) 3 × 
7
2  = 

7
2

1
3
  = 

71
23


  = 

7
6

(ii) 3 × 
8
1  = 

8
1

1
3
  = 

81
13


  = 

8
3

 (iii) 
9
7  × 6 = 

1
6

9
7
  = 

3
14  = 

3
24

Ex.11 3 × 
5
1

. 

+ + =

5
1

5
1

5
1






 part
Shaded

5
3

5
13

 :  ab = ba 



Ex.12  :

(i) 
7
3

8
5
         (ii) 

9
7

14
6
  (iii) 

5
21

4
32

7
42 

Sol. (i)  
7
3

8
5
  = 

78
35


  = 

56
15

 (ii) 
9
7

14
6
  = 

9
7

14
6
   = 

32
12


  = 

31
11


  = 

3
1

 (iii) 
5
21

4
32

7
42   = 

5
7

4
11

7
18



  = 
547
71118


  = 

52
119

  = 

10
99  = 9

10
9

  : 

Ex.13 8 × 
6
15

  = 8 × 
6
31  (

) 

  = 
6

248  ( ) 

  = 
3

124  ( ) 

  = 41
3
1  (

) 

 : 

 1. 

 2. 

 3.

 4.  ( ) 

 

Ex.14 6 × 3
2
1

Sol.   1. 3
2
1  = 

2
123   = 

2
7

 2. 6 ×3
2
1  = 6 × 

2
7  = 

2
76  = 

2
42

 3. 
2
42  = 21;  6 ×3

2
1  = 21 

Ex.15 5 × 4
3
1

Sol.  5 × 4
3
1  = 5 × 

3
13  = 

3
135  = 

3
65





 


3

134
3
14

 5 × 4
3
1  = 

3
65  = 21

3
2

Ex.16 7
8
1  × 36 

Sol.  = 7
8
1  × 36 
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= 
8
57  × 36  

  ( ) 

  = 
8

3657

  ( ) 

  = 
2

957   ( ) 

  = 
2

513

  (57  9 ) 

  = 256
2
1

  ( ) 

Ex.17 
4
1  kg 20 

? 

.   = 
4
1  kg

20 

  = 
4
1  × 20 = 5 kg.  

Ex.18 , 90 

9
5

 ? 

Sol.  = 90 

  = 90 × 
9
5

   = 
9

590  = 10 × 5 = 50 

  : 

 : 

 1. 

 2.

 3. 

 4.

 

Ex.19  : 

  (i) 
21
10

5
43   (ii) 

7
54

22
15

   (iii) 
7
43

15
25 

Sol. (i) 
21
10

5
43   = 

21
10

5
19

  = 
21
38  = 1

21
17

, 
21
10

5
43   = 1

21
17

 (ii) 
7
54

22
15

  = 
7
33

22
15

  = 
7
3

2
15

  = 
14
45 = 3

14
3

 (iii) 
7
43

15
25   = 

7
25

15
77

  = 
13
511


  = 

3
55  = 18

3
1

Ex.20 
3
14

4
16 

Sol.  
3
14

4
16   = 

3
13

4
25

  = 
34
1325


  = 

12
325  = 27

2
1

  : 

 1. 

(i) 
68
45

25
21

  = 
6825
4521


  = 

685
921


  = 

340
189

  (ii) 
4
7

5
12

7
25

  = 
457
71225


  = 

111
135


  = 15 

 2. 

 3. 3  7 , 2 × 3 
2
1  × 7 

  'OF' 
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 4.  < 

Eg. 
21
2

3
1

7
2

 
7
2

21
2


3
1

21
2


 5.  > 

Eg.  
3
7

4
9
  = 

12
63


12
63  > 

4
9

12
63  > 

3
7

 6.  < 
 < 

Eg. 
2
5

7
1
  = 

14
5


2
5

14
5

7
1



 7. 
 1 

 ( ) 
 ( ) 

 :  (0) 

 

Ex. 21  : 

(i)  
5
12  (a) 

(ii)  
2
12  (b) 

(iii) 
3
23  (c) 

(iv) 
4
13  (d) 

Sol.  (i) = (b); (ii) = (c); (iii) = (a); (iv) = (d) 

Ex.22  (i) 
2
1

(ii)  
3
2

Sol.  (i) (ii) 

Ex.23  : 

(i) 
4
3  × 16    (ii) 

4
1  × 

5
3    (iii) 

2
1  × 2

4
3

Sol. (i)  
4
3  × 16 = 

1
16

4
3
  = 

11
43


  = 12 

(ii) 
4
1  × 

5
3  = 

5
3

4
1
  = 

54
31


  = 

20
3

 (iii) 
2
1  × 2

4
3  = 

4
11

2
1
  =  

42
111

  = 

8
11

Ex.24 
5 

5
2

(i) 

 (ii) 

Sol.   = 5 

(i)  = 5 
5
2
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  = 
5
2  × 5  = 2 

 (ii)  = (5 – 2) = 3 

 = 
5
3

Ex.25 1  16 

2
4
3

Sol.  1  = 16 km 

 2
4
3

  = 





 

4
3216 km  

  = 





 

4
11

1
16 km = 











11
114 km = 44 km. 

 2
4
3  44 km 

Ex.26 
5
4

5
22 

Sol.  

+

5
2

5
2+

5
4

5
22 





 

Ex.27  :  

(i) 
4
1

(ii) 
5
2

  (iii) 
3
7

  (iv) 
8
3

Sol. (i) 
4
1  = 






 1

4
1

= 





 100

4
1       (1  = 100 ) 

  = 25 

 (ii) 
5
2  = 






 1

5
2

  = 





  60

5
2    (1  = 60 ) 

  = (2 × 12) 

  = 24 

 (iii) 
3
7  = 






 1

3
7

  = 





 12

3
7  (1  = 12 ) 

  = 28 

  = 2  4 

 (iv) 
8
3  = 






 1

8
3

  = 





  24

8
3      (1  = 24 ) 

  = 9 

  =  ÷ 

 ( ) 
 ( ) 

 

Ex.28 

(i)
21
25

7
5
   (ii) 

8
15

8
7
  (iii) 

14
12

7
21 

 Sol.  (i) 
21
25

7
5
  = 

25
21

7
5
  =  

5
3

(ii) 
8
15

8
7
  = 

15
8

8
7
  =

15
7

   (iii) 
14
12

7
21   = 

14
29

7
9
  = 

29
14

7
9
  = 

29
18
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  :

1. ( ) ÷ 1 = 

3
2  ÷ 1 = 

1
1

3
2
  = 

3
2

2. 0 ÷  = 0 ( ) 

3.  ÷ ) 

3
2

3
2
  = 

2
3

3
2
  = 1 

4. '0'  ( ) 

 

Ex.29  : 

7
51

4
32

Sol.  

7
51
4
32

7
51

4
32 

, 
7
51

4
32 

  = 
7

12
4
11

  (

) 

  = 
12
7

4
11

  (÷  × 

) 

  = 
48
77

 (

) 

  = 
48
291 (

)

Ex.30  : 

(i) 
4
312        (ii) 

5
11

5
12 

  (iii) 
2
11

5
2
    (iv) 4

2
13 

Sol. (i) 
4
312   = 

3
4

1
12

  = 
11
44


  = 

1
16  = 16 

 (ii) 
5
11

5
12  = 

5
6

5
11

  = 
6
5

5
11



         =  
65
511


  = 

6
11  = 1

6
5

 (iii) 
2
11

5
2
  = 

2
3

5
2
  = 

3
2

5
2
  = 

35
22


  = 

15
4

 (iv) 4
2
13   = 

1
4

2
7
  = 

4
1

2
7
  = 

42
17


  = 

8
7

Ex.31 

 : 

(i) 
7
3  (ii) 

5
9  (iii) 

8
1      (iv) 

11
1

Sol. 
7
3  =

3
12

3
7
    ( ) 

5
9  =

9
5  ( ) 

8
1 =

1
8  = 8   ( ) 

11
1  =

1
11  = 11  ( ) 

Ex.32  11
4
1 m 

9 

Sol.   = 11
4
1 m = 

4
45 m 

 = 9 

 = 





  9

4
45

m 

    = 





 

9
1

4
45 m 

    = 
9
1

4
45

  = 
94
145


  = 

4
5  = 1

4
1 m 
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 = 1
4
1 m. 

Ex.33  50
2
1

 2
4
1 cm 

Sol.   =  × 

 50
2
1  =  × 2

4
1


2
101  =  × 

4
9

4
9

2
101

  = 







 

9
4

2
101  cm = 

 = 
9

2101 cm = 
9

202  = 22
9
4  cm 

 = 22
9
4  cm. 

 

Ex.34  : 




































5
1

7
3

5
1

4
3

2
1

7
4

Sol.   
: 





































5
1

7
3

5
1

4
3

2
1

7
4

  =

































 


35
715

5
1

4
3

2
1

7
4

  = 






















 

35
8

5
1

4
3

2
1

7
4

  = 






















 


35

87
4
3

2
1

7
4

  = 














 

35
15

4
3

2
1

7
4

  = 














 

7
3

4
3

2
1

7
4

  = 














 


28

1221
2
1

7
4  = 



 

28
9

2
1

7
4

  = 



 


28

914
7
4  = 




28
5

7
4

  = 
28
5

7
4
  = 

28
544   = 

28
21

Ex.35  : 

9
1

3
1

3
2

6
5

2
1

3
1

2
1

3
2





Sol.  

9
1

3
1

3
2

6
5

2
1

3
1

2
1

3
2





= 

9
1

3
1

3
2

6
5

2
1

6
23

3
2








  = 

9
1

3
1

6
45

2
1

6
1

3
2






  = 

9
1

3
1

6
1

2
1

6
1

3
2




 = 

9
1

18
1

12
1

3
2





  = 

18
21

12
18





 = 

18
3

12
7

 = 
3

18
12
7
  = 

112
67

  = 

2
7
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 6598302 

6 5 9 8 3 0 2 

 (10 ) 
 ( 1/10)  

 9321 

 9 

  9  9 

 3  3 

 2  2  

 1  1  

 1 
(.) 

  9321.6 

 6  6  10 
10
6

  9321.65 

 5  5 
100

5

  9321.654 

 4  4 
1000

4

9321.654 

  9  + 3  + 20 + 1  

   + 6/10 + 5/100 + 4/1000 

 9321.654  

  = 9000 + 300 + 20 + 1 + 
10
6  + 

100
5  + 

1000
4

  9321.654 

 : 

1,000 100 10 1 
10
1

100
1

1000
1

 5.2, 21.32, 8.469, ... 

 :     

 (i)    (ii) 

 21.32 

  21 

  32 

  : 

 8.3, 6.23, 10.145 

  :  

 (i)  :  

: 

, 2.37, 9.01, 14.23  2 

(ii)  : 

 : 

, 1.12, 2.329, 42.8 
 2, 3  1 

 : 2.7 = 2.70 = 2.700 = 2.7000 = ...... 
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  :  

(i) 

 (ii) 

 (iii) 

 (iv) 

 

Ex.36  :  (i) 173.856  173.456  

(ii) 235.67  254.98 

Sol. (i)  1, 7, 3, 5  6 

  8 > 4  173.856 > 173.456 

 (ii)   3 < 5 

 235.67 < 254.98  

Ex.37  : 

(i) 0.5  0.05  (ii) 0.7  0.5 

  (iii) 1.37  1.49  (iv) 0.8  0.88 

Sol.  (i) 0.5  0.05 
, 0,  5 > 0, 0.5 > 0.05  

(ii) 0.7  0.5 
, 0,  7 > 5,  0.7 

> 0.5. 

 (iii) 1.37  1.49 
, 1,  (3 < 4), 

 1.49 > 1.37. 

 (iv) 0.8  0.88  0.80  0.88 

 (8) 

 (8 > 0),  (0.88 > 0.80) 

  :  

 24.06  8.2 

 2 

 : 

 24.06  8.2  8.20  

26.32
20.8
06.24



 : 

  : 

 : 

 1 :

 2 :
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 

Ex.38 1  0.7342 

Sol.  
2658.0
7342.0
0000.1



Ex.39  : 

(i) 3.21 + 2.34  

  (ii) 0.0345 + 6.124 

  (iii) 6.9 + 32.26 

Sol.  (i) 3.21 + 2.34  

55.5
34.2
21.3



  (ii) 0.0345 + 6.124 = 0.0345 + 6.1240 

1585.6
1240.6
0345.0



  (iii) 6.9 + 32.26 = 6.90 + 32.36 

16.39
36.32
90.6



Ex.40  : 

  (i)  4.12 – 2.22  (ii) 62.7 – 60.74 

Sol.  (i)  

90.1
22.2–
12.4   (ii)  

96.1
74.60–
70.62

 : 

 1 :  

 2 :

 3 : 1 

 4 : 0

 

Ex.41 56.432 

Sol.  = 3 

 = 56432 

 = 103 = 1000 

 = 
1000
56432  = 

500
28216  = 

125
7054

22.50 2.5 

 (2.5 × 22.50)  2.5  22.50 

 : 

  10, 100, 1000 

 :  10, 100, 1000, … 
, … 

, 

 673.234 × 10 =  = 6732.34 

 673.234 × 100 =  = 67323.4 

 673.234 × 1000 =  = 673234.0 



 : 

, 12 × 3.82 
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 12  382 

 ( ) 382 × 12 

   3 8 2 

   × 1 2 

   7 6 4 

            3 8 2 × 

            4 5 8 4 

, 3.82 × 12 = 45.84 (
) 



 : 

1. 

 2. 

, 82.53 × 7.4 

 8253  74  (
) 

  8253 × 74 

   8  2  5  3 
   ×      7  4 

            3  3  0  1  2 

        5  7  7  7  1  × 

        6  1  0  7  2  2 

, 82.53 × 7.4 = 610.722 (  (2 + 1 = 3) 
).  

Ex.42  :  

  (i) 1.6  0.3 

  (ii) 8.03  2.9 

  (iii) 0.657  27 

Sol.  (i)  1.6 × 0.3 

  = 
10
3

10
16

  = 
100
48  = 0.48 

 1.6 × 0.3 = 0.48 

(ii)  8.03 × 2.9 

  = 
10
29

100
803

  = 
1000
23287  = 23.287 

 8.03 × 2.9 = 23.287 

(iii)  0.657 × 27 

  = 
1000
657  × 27 = 

1000
27657

  = 
1000
17739  = 17.739 

 0.657 × 27 = 17.739 

Ex.43   : 

   (i) 23.25 × 5  (ii) 2.325 × 25 

Sol.  (i)  23.25 × 5 

11625
5

2325


23.25 × 5 = 116.25

 1 :  

 2 :  

 2 

, 23.25 × 5 = 116.25 

 (ii) 2.325 × 25 

58125
46500
11625

25
2325


 2.325 × 25 = 58.125 

 1 :  
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 2 :  

3 

, 2.325 × 25 = 58.125 

Ex.44  6.7 × 4.25 × 12.3 

Sol.  (i) 6.7 × 4.25 × 12.3 = (6.7 × 4.25) × 12.3 

  = 28.475 × 12.3 = 350.2425 

28475
26800

1340
335
425
67






3502425
2847500
569500

85425
123

28475






 (ii) 6.7 × 4.25 × 12.3 

  = 6.7 × (4.25 × 12.3)  

  = 6.7 × 52.275 

  = 350.2425 

52275
42500

8500
1275

123
425






3502425
3136500

365925
67

52275





  (6.7 × 4.25) × 12.3 = 6.7 × (4.25 × 12.3)  

Ex.45

(i) 10.05 × 1.05    

  (ii) 100.01 × 1.1 

Sol.   (i)  1005  105 

105525
1005

0000
5025
105

1005






 = (2 + 2) = 4 

 4 

 10.05 × 1.05 = 10.5525 

 (ii) 100.01 × 1.1 

 10001  11 

110011
10001
10001

11
10001





  = (2 + 1) = 3 

 3 

  100.01 × 1.1 = 110.011 

Ex.46 5.7 cm 
 3 cm 

Sol.  = 5.7 cm 

 = 3 cm 

 =  × 

           = (5.7 × 3)cm2 = 17.1 cm2

Ex.47 (Two wheelar) 
55.3 km  10 

Sol.  = 55.3 km 

  10 

  = 55.3 × 10 km  
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  = 553.0 km = 553 km 

Ex.48 625 × 5 = 3125 ,  

(i) 6.25 × 5  

  (ii) 62.5 × 5 

Sol.   625 × 5 = 3125  6.25 × 5 = 31.25 

 625 × 5 = 3125  62.5 × 5 = 312.5 

: 
5 

  Eg. (i)   1.5 × 1.5 

    =  ( 1 . 5 )2

    =   2 . 25  

          (1 × 2) (5 )

Eg. (ii)    ( 2 . 5 )2 

    =  6 . 25 

           (2 × 3) (5 )

Eg. (iii) ( 0.  35 )2 

      = 0.12 25 

          (3 × 4) (5 )

Eg. (iv) ( 7 5 )2 

   =   56   25 

       (7 × 8) (5 ) 

 (a5)2 = a(a + 1)25 

 :  a  b 

   a × b = ab 

 a = , b = ,  ab = 

  10, 100, 1000 

 :  10, 100, 1000, … 

……… ,  

 3.27  10 = 0.327 

 3.27  100 = 0.0327 

 3.27  1000 = 0.00327 

  : 

 (i) 

 (ii) 

, 

149.236  8 

6545.18

0
40
40
32
36

40
43

48
52

64
69
8

236.1498













 : 

(i)  10, 100, 1000, … 

 (ii) 

, 22.08  1.5 

15
8.220

15100
102208

5.1
08.22






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72.14

0
30
30

105
108
60
70

15
8.22015









 

Ex.49  15.225 ÷ 0.35 

Sol.

= 
100
35

1000
15225

  [

] 

  [÷  × ]  

  = 
35

100
1000
15225

  = 1522.5 ÷ 35 

15.225 ÷ 0.35 = 1522.5 ÷ 0.35 = 1522.5 ÷ 35 

Ex.50 50.76 ÷ 9.4 

Sol.   = 
10
94

100
5076

  = 
94
10

100
5076

  = 94
10

5076
  = 507.6 ÷ 94 

 50.76 ÷ 9.4 = 507.6 ÷ 94 

Ex. 51 (i) 15.225 ÷ 0.35  (ii) 50.76 ÷ 9.4 

Sol. (i) 

5.43

175
175

105
122

140
5.152235








 15.225 ÷ 0.35 = 43.5 

 (ii) 

4.5

376
376

470
6.50794






 50.76 ÷ 9.4 = 5.4

Ex.52 0.06688 ÷ 0.038 

Sol.

 0.06688 ÷ 0.038 

= 

76.1

228
228

266
288
38

88.6638








 0.06688 ÷ 0.038 = 1.76  

Ex. 53  0.024 ÷ 0.6 

Sol.  0.024 ÷ 0.6 = 
6.0

024.0

= 
6
24.0  = 0.04 

04.0

24.0
24.06



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Ex.54  64 ÷ 0.08 

Sol.  64 ÷ 0.08 = 
08.0
00.64  = 

10008.0
10000.64




  = 
8

6400

= 800 

  [
]



,  

 9  0.3 

  = 
3
109

3.0
9 



  = 30
3
90



  9  0.3 = 30 

 

Ex.55  :  
(i) 34 ÷ 1.36  (ii) 1032 ÷ 2.064 

Sol. (i)  1 : 
34 ÷ 1.36 = 3400 ÷ 136 

Step 2 : 3400 ÷ 136 

25

680
680

272
3400136






 34 ÷ 1.36 = 25 

 (ii)  1 : 
  1032 ÷ 2.064 = 1032000 ÷ 2064 

 2 :  : 

500

1032000
10320002064




, 1032 ÷ 2.064 = 500

Ex.56  7  89.25 
 1 

Sol.  7  =  89.25 

 1 
  =  89.25 ÷ 7 

75.12

35
35

49
52
14
19
7

25.897










, 1  =  12.75

Ex. 57 
2
13 21.87 

Sol.  =
2
13  = 3 + 

2
1

= 3 + 0.5 = 3.5 

 = 21.875 
25.6

175
175
70
87

210
75.21835








, 

  = 21.875 ÷ 3.5 
  = 218.75 ÷ 35 = 6.25 litres 
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 : 

 (km)

 (hm)

 (dam)

 (m)

 (dm)

( )

 (cm)

 (mm)

10

10

10

10

10

10

10

10

10

10

10

10

 :  ( ),  ( ),  ( )

 :  1790 
 10 

 :  

"Kaha Ho Daddy Mamma, Didi Call Me" 
  K  km ; H  hm ; D  dam ; M  metre ;  
  D  dm ; C  cm ; M  mm 

Also, 
×10
km
kg
k
÷10

×10
hm
hg
h

÷10

×10
dam
dag
da

÷10

×10
m
g


÷10

×10
dm
dg
d

÷10

×10
cm
cg
c

÷10

mm
mg
m

 

Ex.58
 : 

(i) 45.93 km to (m) 
  (ii) 73.72 kg to (cm) 
  (iii) 225 m 37 cm to (cm)  
  (iv) 9.432 g to (mg) 
Sol. (i) 45.93 km = 45.93 × 1000 m = 45930 m 

(ii) 73.72 km = 73.72 × 100000 cm = 7372000 cm 
 (iii) 225 m 37 cm = 225 × 100 cm + 37 cm  
    = 22500 cm + 37 cm 
    = 22537 cm 
 (iv) 9.432 g (mg) = 9.432 × 1000 mg = 9432 mg 

Ex.59 
 : 

(i) 24.43 mg (cg)  (ii) 6795 g (kg) 

  (iii) 4203 mm (hm) (iv) 15.89 m () 

Sol. (i)  24.43 mg = 
10

43.24 cg = 2.443 cg 

(ii) 6795 g = 
1000
6795  kg = 6.795 kg 

 (iii) 4203 mm = 
100000

4203  hm = 0.04203 hm 

 (iv) 15.89 m = 
1000

89.15  = 0.01589 

Ex.60 
 : 

(i) 3 × 42 g 745 mg (g) 

  (ii) 3 × 5 t 5460 kg (t) 

Sol. (i) 

42 g + 745 mg = 42 g + 
1000
745 g  

  = 42 g + 0.745 g = 42.745 g 

 3 × 42g 745 mg = 3 × 42.745g = 128.235 g 

 (ii) , 5t  5460 kg = 5t + 5460 kg  

  = 5t + 
1000
5460 t = 5t + 5.46 t = 10.46 t  

 3 × 5t  5460 kg = 3 × 10.46 t = 31.38 t 

  (
) :    

12   =   1  (ft) 

3    = 1  (yd) 

1760   = 1 
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Ex.61 
 :  

(i) 549  ( ) 

  (ii) 2  9504  ( ) 

  (iii) 1285  ( ) 

. (i) 12  = 1 

 1  = 
12
1

 549  = 
12
549  = 45

12
9

   = 45 9 

45

9
60
69

48
54912





(ii) 2  9504 

  2 9504 

 2  9504  = 2  + 9504 

 1760  = 1 

  1  = 
1760

1

 9504 = 
1760

19504  = 5.4 

 2  + 9504  = 2  + 5.4 

            = 7.4 

 (iii) 1285 

  12  = 1 ft 

  1285  = 
12

11285  ft = 107
12
1 ft 

    = 107 ft  1 

Ex.62 6728 cm ? 

.   100 cm = 1 m  

  1 cm = 
100

1 m  

, 6728 cm = (6728  100) m 

        6728 cm = 67.28 

Ex.63 23.7 cm ? 

.  10 cm = 1 dm  1 cm = 
10
1 dm 

,  23.7 cm = (23.7  10) dm 

    23.7 cm = 2.37 

Ex.64 725.65 ? 

.   1 = 100 

, 725.65  = (725.65 × 100) 

  725.65  = 72565 

Ex.65 6.1072 ? 

.   1 = 100 ml. 

6.1072  = (6.1072 × 1000) ml 

  6.1072 = 6107.2 ml

Ex.66 
 : 

(i) 7   (ii) 7 7 

  (iii) 235 

.  (i) 100  = 1 

 1  = 
100

1

,  7   = 
100

1 × 7  = 
100

7

    7   = 0.07 

  (ii) 7  7  = 7 + 7 

   =  7 + 
100

7

   = 





 

100
77

   =  (7 + 0.07) =  7.07  
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  (iii) 235  = 
100
235  ( 100  = 1 ) 

   235  =  2.35 

Ex.67 5 cm 

.  5 cm = 
100

1  × 5 

( 100 cm = 1m  1 cm = 
100

1 m) 

  = 
100

5

  5 cm = 0.05 

  5 cm = 5 × 
100000

1 km 

  ( 100000 cm = 1 km  1 cm = 
100000

1 km) 

  5 cm = 0.00005 km. 

Ex.68 (kg) 

(i) 200 g (ii) 3470 g (iii) 4 kg 8 g 

.  (i) 200 gm = 
1000
200 kg  

( 1000 gm = 1 kg  1 gm = 
1000

1 kg) 

 200 gm = 0.200 kg 

  (ii) 3470 g = 
1000
3470  kg  

( 1000 gm = 1 kg  1 gm = 
1000

1 kg) 

 3470 gm = 3.470 kg 

  (iii) 4 kg 8 gm = 4 kg + 
1000

8  kg  

( 1000 gm = 1 kg  1 gm = 
1000

1 kg) 

   = (4 + 0.008) kg 

 4 kg 8 g = 4.008 kg 




